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Probability. .
“Rolling Dice"” Station

Roll a pair of dice twenty times and create a tally of the suims in the table below. Then
use your resuits to answer the questions.

7 8 9 10 LL 12

Sum [ 1 2 3 4 5 6

Tally

Total

1. Wﬁat is the theoretical probability of rolling a sum of 6?
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2. What Is the experimental probability of rolling a sum of 6?
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3. What is the theoretical probability of rolling a sum of 5 or less? -
(9 S G ' |
o — g 8

4. What is the experlmental probability of rolling a sum of 5 or less?
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5. The sums of 6, 7, and 8 are more theoretlcally probable than the other sums.

a. Why would these sums be more likely to occur than the others? § QJ
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b. Did your expexlme%ntal probability show this to be true? Why or whg’not‘?
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